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3.5 & 3.6 Matrix Operations
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Warm Up:

Solve for a, b, ¢, d, e and f.
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Example #1:

Two branches of Macy's department store
reported last month's jean sales.

Chicago Atlanta
M W M W
Levi | 95 80
—
Lee | 105 90 Lee | 90 85

Levi { 150 100

Wrangler | 35 70 40 50
Create a matrix the represents the total sales.

/(5(::'2’5 - Er’\ W_ To add, padrices
S |

Wrangler

45 180 | wkthave the Sama,
Lee 135 35| Amonsions,
Wrargles 345- 20|  Add correspondivg
- entrits

What would Chicago's matrix look like if
Chicago doubled its sales?

(60 |;;_o—’ (300 200
@ (05 | - 210 180
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Scalormultiplicochion

Create a matrix that represents the
difference in jean sales.

Ch\cagﬂ Atlontu, ‘

\50 19 (15 90 _ 65 20
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Example #2: Simplify

4 8 3] [4 -2 8

21-3 =2 2[-{10 0 12
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Example #3:

[3 -1 4]+

No soluhion
In ordes o odd Madfices
e dimensiong Yt o
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Example #4:

Mr. Kohmetcher is planning his birthday party for 100 of his
He will need to rent 100 chairs, 12 tables, and 2
tents. There are two rental shops nearby that rent all these
items but they have different prices as shown in the matrix.

closest friends.

Chairs
Tables

Tents

Weinhardt Sun Rental ]
$2.25
$6.50
$385

$3
$10
$325

Put the information about how many chairs, tables, and tents
into a row matrix. Chairs Jebles Jemts.

\0O

Use matrix multiplication to find a matrix that shows the total
cost of renting all the equipment from each of the two shops.
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10(2.25) +12(b50) +2 (35) = 10%3
BOCY2(16) + 2(328) = 134
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Matrix Multiplication

Example #5

Muk-wii) \JmL

%Ful\mi\
(2120) <4 _|(AW26) = 7
H2)300)="¢ 4(2)46(5)=(2
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Example #6

@O‘ [«lz 73

| 2 L 443
Al 15 70F commutaiVe
2 AriceS.
Example #7 i L 'M' ‘ .
No solwhim.
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